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Kids Challenge! 
Did you find the word? 
It is “ELEPHANT”. 

Smart kids : 
1. Gayatri Srinivasan, St. Louis, Missouri. 
2. Mounica Raman, Southern California. 
3. Sravya Ainapurapu, St. Louis, Missouri. 
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Kids’ ‘X’word Winners: 
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1. Gayatri Srinivasan, St. Louis, Missouri. 
2. Sravya Ainapurapu, St. Louis, Missouri. 
3. A. Lakshmi Puja, Visakhapatnam. 

4. A. Swathi Keertana, Visakhapatnam. 
5. A. Bharadwaj, Qatar. 
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Solutions & Winners�
�
Kids Challenge!
Did you find the word?
It is “ELEPHANT”.
Smart kids :
1. Gayatri Srinivasan, St. Louis, Missouri.
2. Mounica Raman, Southern California.
3. Sravya Ainapurapu, St. Louis, Missouri.
�
Kids’ ‘X’ Word Solution� !�"�#$	"�˝��%��#������
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Kids’ ‘X’word Winners:
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1. Gayatri Srinivasan, St. Louis, Missouri.
2. Sravya Ainapurapu, St. Louis, Missouri.
3. A. Lakshmi Puja, Visakhapatnam.
4. A. Swathi Keertana, Visakhapatnam.
5. A. Bharadwaj, Qatar.
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π(R2 – r2) = πr2 
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R2  = 2r2 

R2 /r2 = 2 
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Question Gallery – Answers 
 

1. He observed the number of floors while 
going in elevator. Even if he climbs all the 
floors taking stairs, obviously he counts! 
 

2. Initially, he was having crores. After 
selling 5 rupee coconuts for only 3 rupees, 
he became a lakhier.  
 

3. If we assume the outer circle’s and inner 
circle’s radius as R and r respectively, then 
the area of the ring is π(R2 – r2) and area of 
the inner circle is πr2. They are same. So  
π(R2 – r2) = πr2 

πR2  = 2πr2 

R2  = 2r2 

R2 /r2 = 2 
So the ratio of R and r is √2:1 
4. 6 circles (See below figure A). 
 

          
!�U������lFigure) A. 

 

5. Six circles (See adjacent figure B). 
 

Hint : You can try this with a quarter (25 
cents coin) or a dollar coin. No need to 
draw. 
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Question Gallery – Answers
1. He observed the number of floors while
going in elevator. Even if he climbs all the
floors taking stairs, obviously he counts!
2. Initially, he was having crores. After
selling 5 rupee coconuts for only 3 rupees,
he became a lakhier.
3. If we assume the outer circle’s and inner
circle’s radius as R and r respectively, then
the area of the ring is p(R2 – r2) and area of
the inner circle is pr2. They are same. So
p(R2 – r2) = pr2
pR2 = 2pr2
R2 = 2r2
R2 /r2 = 2
So the ratio of R and r is ÷2:1
4. 6 circles (See below figure A).
!�U������lFigure) A.
5. Six circles (See adjacent figure B).
Hint : You can try this with a quarter (25
cents coin) or a dollar coin. No need to
draw.
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Salutation to your solution! 
We ourselves disclosing!! 
 

1. Kaallakuri Narayanarao. 
2. King Santana. 
3. Kalinga war located in Orissa. 
4. Gibraltar Rock. 
5. ‘K’ vitamin. 
6. Culex - Phylaria. 
    Anaphilis - Malaria. 
7. On Sutlej river. 
8. Tidhi, Vaaramu (Week),  
Nakshatramu (Star), Yogamu, 
KaraNamu. 
9. Kilambi Venkata Narasimhacharyulu. 
10. Billiards. 
11. Known for Minerals/Ore. 
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Salutation to your solution!
We ourselves disclosing!!
1. Kaallakuri Narayanarao.
2. King Santana.
3. Kalinga war located in Orissa.
4. Gibraltar Rock.
5. ‘K’ vitamin.
6. Culex - Phylaria.
Anaphilis - Malaria.
7. On Sutlej river.
8. Tidhi, Vaaramu (Week),
Nakshatramu (Star), Yogamu,
KaraNamu.
9. Kilambi Venkata Narasimhacharyulu.
10. Billiards.
11. Known for Minerals/Ore.
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